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TNPSC GROUP I test batch – 2020 
TEST X – APTITUDE AND MENAL ABILITY stepwise solution 

 

1 2 3 4 5 6 7 8 9 10 
B B B D A C B C A A 

11 12 13 14 15 16 17 18 19 20 
A B D B B A C A A A 

21 22 23 24 25 26 27 28 29 30 
C B B C B A A B C B 

31 32 33 34 35 36 37 38 39 40 
A C C B A C C B B B 

41 42 43 44 45 46 47 48 49 50 
D A A B D D B D A C 

51 52 53 54 55 56 57 58 59 60 
D A C D B B A C C A 

61 62 63 64 65 66 67 68 69 70 
C B A B B D C A B B 

71 72 73 74 75 76 77 78 79 80 
D C B C A C B B B B 

81 82 83 84 85 86 87 88 89 90 
D C A B A B B D C A 

91 92 93 94 95 96 97 98 99 100 
B B D A D D B A D B 
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61. The ratio of boys to girls in a class is 7 : 8. If the number of boys is 56. then, find the number of 
girls.  
a. 60   b. 62   c. 64   d. 66  
xU tFg;gpy;; Mz;fs; kw;Wk; ngz;fspd; tpfpjk; 7 : 8 MFk;. Mz;fspd; vz;zpf;if 56 
vdpy; ngz;fspd; vz;zpf;if vd;d?  
a. 60   b. 62   c. 64   d. 66  
 
tpsf;fk; 
 
Ratio of boys to girls is 7 : 8  
let the number of boys and girls be 7x and 8x respectively.  
 7x = 56  
 x = 8  
then number of girls = 8 × 8 = 64  
Mz;fs; kw;Wk; ngz;fspd; tpfpjk; 7 : 8  
Mz;fspd; vz;zpf;if = 7x vd;f.  
ngz;fspd; vz;zpf;if = 8x  
    7x = 56  
    x = 8  
ngz;fspd; vz;zpf;if = 8 × 8 = 64  

    
62. If A : B = 7 : 4, B : C = 7 : 6 then find A : B : C?  

a. 56 : 28 : 24  b. 49 : 28 : 24  
c. 48  : 24 : 28   d. 28 : 49 : 24  
A : B = 7 : 4, B : C = 7 : 6 vdpy; A : B : C d; kjpg;G fhz;f. 
a. 56 : 28 : 24  b. 49 : 28 : 24  
c. 48  : 24 : 28   d. 28 : 49 : 24  

 
tpsf;fk; 
  
  A  :  B  :  C 
  7  4   
  
 ×   7  6  
   
  49 : 28 : 24  

 
63. If A : B = 4 : 5 B : C = 6 : 7 C : D = 2 : 4 then find A : B : C : D  

a. 24 : 30 : 35 : 70   b. 24 : 35 : 30 : 70  
c. 24 : 70 : 35 : 30    d. 30 : 70 : 35 : 34  
A : B = 4 : 5 B : C = 6 : 7 C : D = 2 : 4 vdpy; A : B : C : D d; kjpg;G fhz;f.  
a. 24 : 30 : 35 : 70   b. 24 : 35 : 30 : 70  
c. 24 : 70 : 35 : 30    d. 30 : 70 : 35 : 34  
 

  

4 

7 
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tpsf;fk; 
  

  A B C D 
  4 5  
 
   6 7  
      
      2    4  
  
       ÷ by 2     24 ×2 : 30×2 : 35×2 : 35×4   
  
 24 : 30 : 35 : 70  
  

64. If a : b = 4 : 7, b : c = 21 : 25 then find  
2 2

2 2

c  - b  

c  + b  
 = ? 

a. 
90

530
  b. 

92

533
  c. 

89

489
  d. 

184

1066
 

 
tpsf;fk; 
 

  a :  b  :  c 
  4  7   
  x  
    21  25 
     
          4 × 21   :      7 × 21  :    7 × 25 
     
  ÷ by 7  4 ×3   :  21 :  25 
  12 : 21 : 25 = a : b : c  

 Now 
2 2 2 2

2 2 2 2

25 21

25 21

c b

c b

− −
=

+ +
    [c = 25, b = 21] 

  
625 441

625 441

−

+
 = 

184

1066
 

  
2 2

2 2

92

533

c b

c b

−
=

+
 

 
65. Three numbers are in the ratio 3 : 5 : 7 and their average is 90. Find the smallest number?  

a. 50   b. 54   c. 42   d. 30  
%d;W vz;fs; 3 : 5 : 7 vd;w tpfpjj;jpy; cs;sd. mtw;wpd; ruhrhp 90 vdpy; mt;ntz;fspy; 
kpfr;rpwpa vz;?  
a. 50   b. 54   c. 42   d. 30  

 
  

5 5 

7 

2 2 

6 

7 

21 
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tpsf;fk; 
  

  Ratio is 3 : 5 : 7  
 Let the three numbers be 3x, 5x, 7x 
 then average = 90  

  
3 5 7

3

x x x+ +
 = 90   

  15x = 90 × 3 
  x = 18  

Smallest number = 3x  
   = 3 × 18 = 54 
  tpfpjk; = 3 :  5 : 7  
%d;W vz;fs; 3x, 5x, 7x vd;f.  
 me;j vz;fspd; ruhrhp = 90  

   
3 5 7

3

x x x+ +
= 90 

   15x = 90 × 3 
   x = 18  
 rpwpa vz; = 3x  
   = 3 × 18  
   = 54  

  
66. Salaries of Ram and Murugan are in the ratio 2 : 3. If the salary of each is increased by Rs. 

4000 the new ratio becomes 40 : 57. What is Murugan's salary?  
a. 50000   b. 36700  c. 46800  d. 38000 
uhk; kw;Wk; KUfdpd; rk;gsk; 2 : 3 vd;w tpfpjj;jpy; cs;sJ. NkYk; $Ljyhf ,UtUf;Fk; 
& 4000 rk;gsk; cah;j;Jk; nghOJ mtw;wpd; tpfpjk; 40 : 57 MfpwJ vd;why; KUfdpd; 
rk;gsk; vd;d?  
a. 50000   b. 36700  c. 46800  d. 38000 

 
tpsf;fk; 
  

  Salaries ratio = 2 : 3  
  Let the salaries be 2x, 3x  
  then New salary of Ram = 2x + 4000 
     Murugan = 3x + 4000  
   New Ratio = 40 : 57  

  
2 4000 40

3 4000 57

x

x

+
=

+
 

  114x + 4000 × 57 = 120x + 4000 × 40  
  4000 × 57 – 4000 × 40 = 120x – 114x  
  4000 (57 – 40) = 6x  
  4000 × 17 = 6x  
   34000 = 3x 
  Murugan's new salary = 3x + 4000  
      = 34000 + 4000 
      = 38000 
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tpsf;fk;:  
   rk;gsj;jpd; tpfpjk; = 2 : 3 
    uhkpd; rk;gsk; = 2x  
    KUfdpd; rk;gsk; = 3x, vd;f. 
    Gjpa rk;gsk;> uhk; = 2x + 4000 
     KUfd; = 3x + 4000  
   Gjpa tpfpjk; = 40 : 57  

   
2 4000 40

3 4000 57

x

x

+
=

+
 

  114x + 4000 × 57 = 120 + 4000 × 40  
  4000 ×57 – 4000 × 40 = 120x – 114x  
     4000 × 17 = 6x 
     34000 = 3x  
  KUfdpd; Gjpa rk;gsk; = 3x + 4000 
      34000 + 4000 = 38000 
 

67. A bag contains 50p, 25p, and 10p coins in the ratio 5 : 9 : 4, amounting to Rs. 206. Find the 
total number of coins in the bag?  
a. 540   b. 600   c. 720   d. 800  
xU igapy; 50p, 25p, kw;Wk; 10p Mfpa ehzaq;fs; 5 : 9 : 4 vd;w tpfpjj;jpy; cs;sd. 
mitfspd; nkhj;j kjpg;G & 206 vdpy; mg;igapy; cs;s nkhj;j ehzaq;fspd; 
vz;zpf;ifia fhz;f?  
a. 540   b. 600   c. 720   d. 800  

 
tpsf;fk; 
 

  Let the number of coins be 5x, 9x, 4x  
    total amount = 206 

   then 
50 25 10

5 9 4 206
100 100 100

x x x +  +  =  

   0.5 × 5x + 0.25 × 9x + 0.1 × 4x = 206 
   2.5x + 2.25x + 0.4x = 206  
     5.15x = 206 
     x = 40  
  Number of 50 p coins = 5 × 40 = 200  
  number of 25 p coins = 9 × 40 = 360  
  number of 10p coins = 4 × 40 = 160  
  total number of coins = 200 + 360 + 160 = 720  
 tpsf;fk;:  
  ehzaq;fspd; vz;zpf;if 5x, 9x, 4x vd;f.  
  nkhj;j kjpg;G = & 206  

   
50 25 10

5 9 4 206
100 100 100

x x x +  +  =   

    2.5x + 2.25x + 0.4x = 206  
      5.15x = 206 
      x = 40  
 nkhj;j ehzaq;fspd; vz;zpf;if = 5 × 40 + 9 × 40 + 4 × 40  
      = 200 + 360 + 160 = 720  
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68. Salaries of A, B, and C are in the ratio 2 : 3 : 5 respectively. If their salaries were increased by 
15%, 10%, and 20% respectively what will be the new respective ratio of their salaries?  
a. 23 : 33 : 60   b. 24 : 33 : 64  c. 22 : 33 : 55  d. 10 : 11 : 14  
A, B kw;Wk; C rk;gsk; KiwNa 2 : 3 : 5 vd;w tpfpjj;jpy; cs;sd. mth;fspd; rk;gsk; 
KiwNa 15%, 10% kw;Wk; 20% mjpfhpj;jpUe;jhy; mth;fspd; rk;gsj;jpd; Gjpa tpfpjk; vd;d?  
a. 23 : 33 : 60   b. 24 : 33 : 64  c. 22 : 33 : 55  d. 10 : 11 : 14  
tpsf;fk; 
  

  Ratio (tpfpjk;)  = 2 : 3 : 5  
  15%, 10%, 20% Increased salary  

  New ratio (Gjpa tpfpjk;) = 
115 110 120

2 : 3 :5
100 100 100

    

   = 2 × 115 : 3 × 110 : 5 × 120  
   = 2 × 23 : 3 × 22 : 5 × 24  = 23 : 33 : 60  
 

69. The ratio between the present ages of Ram and Arun is 2 : 5 respectively. After 6 years Ram's 
age will be 30 years. Find Arun's present age?  
a. 50   b. 60   c. 64  d. 30  
uhk; kw;Wk; mUzpd; jw;Nghija taJ tpfpjk; 2 : 5 uhkpd; taJ 6 Mz;LfSf;F gpd;G 30> 
vdpy; mUzpd; jw;Nghija taJ vd;d?  
a. 50   b. 60   c. 64  d. 30  

 
tpsf;fk; 
  

  Ram : Arun's present age ratio = 2 : 5  
  Let Ram's present age   = 2x  
  Arun's Present Age   = 5x  
 After 6 years Ram's age   = 30  
     2x + 6 = 30  
        2x = 24  
        x = 12 

Arun's present age = 5 × 12 = 60  
uhk; kw;Wk; mUzpd; taJ tpfpjk; = 2 : 5  

  uhkpd; jw;Nghija taJ = 2x  
  mUzpd; jw;Nghija taJ = 5x  
  6 tUlq;fSf;F gpd;G uhkpd; taJ = 30  
      2x + 6 = 30  
      2x = 24  
      x = 12 
   mUzpd; jw;Nghija taJ = 5 × 12 = 60  
   

70.  The average age of a Father and his son is 36 years. The ratio of their ages is 5 : 1 respectively. 
What will be the son's age?  
a. 11   b. 12   c. 13  d. 14  
je;ij kw;Wk; mtuJ kfdpd; ruhrhp taJ 36. mth;fspd; taJ tpfpjk; 5 : 1. vdpy; kfdpd; 
jw;Nghija taJ vd;d? 
a. 11   b. 12   c. 13  d. 14  
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tpsf;fk; 
  

  Ratio = 5 : 1  
  let Father age = 5x  
   son  age = x 

   Average = 36   
5

36
2

x x+
=  

   6x = 36 × 2  
    x = 12 
   son's present age = 12 × 1 = 12 
  tpfpjk; = 5 : 1 
  je;ijapd; taJ = 5x  
  kfdpd; taJ = x vd;f.  
  ruhrhp = 36  

   
5

36
2

x x+
=  

   6x = 36 × 2  
    x = 12 
  kfdpd; taJ = 12 × 1 = 12 
       

71.  The ages of vijay and kamal are in the ratio 15 : 17 respectively. After 6 years the ratio of their 
ages will be 9 : 10. What will be the age of vijay after 6 years?  
a. 40   b. 30   c. 34   d. 36  
tp[a; kw;Wk; fkypd; jw;Nghija taJ tpfpjk; 15 : 17 6 Mz;LfSf;f gpd; mth;fsJ taJ 
tpfpjk; 9 : 10 vdpy; 6 Mz;LfSf;F gpd; tp[apd; taJ vd;d?  
a. 40   b. 30   c. 34   d. 36  

 
tpsf;fk; 
  

  Raito = 15 : 17  
 Let vijay's age = 15x  
  Kamal's age = 17x 
 After 6 years Ratio = 9 : 10  

  
15 6 9

17 6 10

x

x

+
=

+
 

  150x + 60 = 153x + 54  
  60 – 54 = 153x – 150x 
  6 = 3x 
  x = 2 

After 6 years Vijay's age = 15x + 6 
     = 15 × 2 + 6 
     = 30 + 6 = 36 

tpfpjk; = 15 : 17  
tp[apd; taJ = 15x  
fkypd; taJ = 17x vd;f  
6 tUlq;fSf;F gpd;G tpfpjk; = 9 : 10  

  
15 6 9

17 6 10

x

x

+
=

+
 

  150x + 60 = 153x + 54  
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  60 – 54 = 153x – 150x 
  6 = 3x 
  x = 2 

6 tUlq;fs; gpd;G tp[apd; taJ = 15x + 6 
     = 15 × 2 + 6 
     = 30 + 6 = 36 
 

72. The ratio of ages of three numbers is 3 : 4 : 5 and the sum of theirs squares is 1250. Find the 
sum of the numbers?  
a. 30   b. 50   c. 60   d. 90  
%d;W vz;fspd; tpfpjk; 3 : 4 : 5 kw;Wk; mtw;wpd; th;f;fq;fspd; $l;Lj; njhif 1250 vdpy; 
me;j vz;fspd; $l;Lj;njhif fhz;f?  
a. 30   b. 50   c. 60   d. 90  

 
tpsf;fk; 
  

  Ratio (tpfpjk;) = 3 : 4 : 5  
   Let the ages be 3x, 4x, 5x  
  Given (3x)2 + (4x)2 + (5x)2 = 1250  
   9x2 + 16 x2 + 25x2 = 1250  
     50x2 = 1250  
      x2 = 25  
      x = 5 
 Sum of the ages of numbers = 3x + 4x + 5x = 15 + 20 + 25 = 60  
 

73. Ram is 40 years old and Ranjith is 60 years old. How many years ago was the ratio of their 
ages is 3 : 5?  
a. 5   b. 10   c. 20  d. 37  
uhkpd; jw;Nghija taJ 40> uQ;rpj;jpd; taJ 60 vj;jid tUlq;fs; Kd;G mth;fspd; taJ 
3 : 5 tpfpjk; Mf ,Uf;Fk;?  
a. 5   b. 10   c. 20  d. 37  

 
tpsf;fk; 
  

  Let 'x' years ago the ratio of their ages is 3 : 5.  

   
40 3

60 5

Ram x

Ranjith x

−
= =

−
 

   200 – 5x = 180 – 3x 
    20 = 2x  
    x = 10  
 

74.  The present age of father is 4 times the sum of the present ages of his two sons. 10 years 
hence the fathers age is 2 times the sum of present age of his two sons. Find father's present 
age?  
a. 50 years   b. 55 years   c. 60 years  d. 65 years  
xUthpd; jw;Nghija taJ mthpd; ,U kfd;fspd; taJfspd; $l;Lj;njhifiag; Nghy; 4 
klq;F cs;sJ. 10 tUlq;fSf;F gpwF mthpd; taJ ,U kfd;fspd; taJfspd; 
$l;Lj;njhifiag; Nghy; 2 klq;F MFk; vdpy; mthpd; jw;Nghija taJ vd;d?  
a. 50 tUlk;   b. 55 tUlk;  c. 60 tUlk;  d. 65 tUlk; 
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tpsf;fk; 
 

  Let Father's present age = F 
 and the two sons present age be x, y  
     F = 4(x + y)    → (1) 
 10 years hence Father's age = F + 10 
  two sons age = x + y +10 + 10  
     = x + y = 20  
  F + 10 = 2 (x + y + 20)       → (2) 

 From (1) 
4

F
x y = + substitute in        (2) 

  F + 10 = 2(x + y) + 40  
  F – 30 = 2 (x + y)  

  F – 30 = 2
4

F
  

  F – 30 = 
2

F
 

  2F – 60 = F 
  F = 60  

je;ijapd; jw;Nghija taJ = F vd;f.  
,uz;L kfd;fspd; taJ x kw;Wk; y vd;f.  

  F = 4 (x + y) 

  
4

F
 = (x + y)      (1) 

10 tUlq;fs; gpd;G> je;ijapd; taJ = F + 10  
   kw;Wk; kfd;fspd; taJ = x + y + 10 + 10  
       x + y + 20  
     F + 10 = 2(x + y + 20)   → (2) 

From 1 & 2 
  F + 10 = 2(x + y) + 40  
  F – 30 = 2 (x + y)  

  F – 30 = 2
4

F
  

  F – 30 = 
2

F
 

  2F – 60 = F 
  F = 60  
          

75.  The present age of Ram is 6 times his son's age. 4 years hence age of Ram is 4 times his son's 
age. Find the present age of Ram?  
a. 36 yrs  b. 30 yrs   c. 24 yrs  d. 28 yrs  
uhk; vd;gthpd; taJ jd; kfdpd; taijg; Nghy; 6 klq;F> 4 tUlq;fs; fopj;J mthpd; taJ 
kfd; taijg; Nghy 4 klq;F vdpy; uhkpd; jw;Nghija taJ vd;d?  
a. 36  b. 30   c. 24   d. 28 
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tpsf;fk; 
  

  Let Ram's present age = x  
  son's present age = y 
   x = 6y      → (1) 
  Four years hence Ram's age = x + 4 
     son's age  = y + 4 
   x + 4 = 4 (y + 4) 

   x + 4 = 4 4
6

x 
+ 

 
   from (1) y = 

6

x
    

   
2

4 16
3

x
x+ = +  

   
2

12
3

x
x − =  

   3x – 36 = 2x  
    x = 36  

tpsf;fk;:  
  uhkpd; jw;Nghija taJ = x  
  kfdpd; jw;Nghija taJ = y vd;f.  
      x = 6y  

      
6

xy=      → 1 

   4 tUlq;fs; fopj;J  
    uhkpd; taJ = x + 4 
    kfdpd; taJ = y + 4 
   x + 4 = 4 (y + 4) 

   x + 4 = 4 4
6

x 
+ 

 
   from (1) y = 

6

x
    

   
2

4 16
3

x
x+ = +  

   
2

12
3

x
x − =  

   3x – 36 = 2x  
    x = 36  
  

76. A boy is twice as old as his sister. four years ago he was thrice as old as her. what are their 
ages now?  
a. 18, 9  b. 14, 7  c. 16, 8  d. 12, 6  
xUtd; jd; rNfhjhpia tpl ,uz;L klq;F taJ mjpfk;. ehd;F tUlq;fSf;F Kd;G mtd; 
jd; rNfhjhpia tpl %d;W klq;F taJ mjpfk; vdpy; jw;nghOJ mth;fspd; taJ vd;d?  
a. 18, 9  b. 14, 7  c. 16, 8  d. 12, 6  

  
  



 

11 | Page APPOLO STUDY CENTRE 044-24339436, 42867555, 9840226187 
 

tpsf;fk; 
  

Let Boy's age = x  
 sister's age   = y 
  x = 2y  

  y = 
2

x
 

 Four years ago boy's age = x – 4 
   sister age = y – 4 
    x – 4 = 3 (y-4)  
    2y – 4 = 3y – 12    (x = 2y)  
    12 – 4 = 3y – 2y  
    12 – 4 = y 
     8 = y 
    x = 2y  
    x = 16  
 igadpd; taJ = x  
 rNfhjhpd; taJ = y vd;f. 
    x = 2y  
 ehd;F tUlq;fs; Kd;G igadpd; taJ = x – 4 
     rNfhjhpapd; taJ = y – 4 
  x – 4 = 3 (y-4)  
    2y – 4 = 3y – 12    (x = 2y)  
    12 – 4 = 3y – 2y  
    12 – 4 = y 
     8 = y 
    x = 2y  
    x = 16  
  

77. If 30 men take 80 days to complete a work, how long will it take if 30 more men join them to 
complete the same work?  
a. 20 days   b. 40 days   c. 60 days   d. 45 days  
30 Mz;fs; xU Ntiyia Kbf;f 80 ehs;fs; vLj;Jf; nfhs;th;. vdpy; mth;fSld; NkYk; 
30 Mz;fs; Nrh;e;jhy; mNj NtiyahdJ Kba vj;jid ehs;fs; MFk;?  
a. 20 ehl;fs;  b. 40 ehl;fs;  c. 60 ehl;fs;  d. 45 ehl;fs;  

 
tpsf;fk; 
  

  1 1 1 2 2 2

1 2

M D T M D T

W W

   
=  

  
30 80 (30 30)

1 1

x + 
=  

  x = 40 days   
 

78. 3 women or 7 men can construct a room in 88 days. How long will it take for 6 women and 8 
men to do the same type of room?  
a. 27 days   b. 28 days   c. 29 days   d. 30 days  
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3 ngz;fs; my;yJ 7 Mz;fs; Xh; miwia 88 ehs;fspy; fl;b Kbg;gh;. mJ Nghd;w 
miwia 6 ngz;fs; kw;Wk; 8 Mz;fs; fl;b Kbf;f vj;jid ehs;fs; MFk;.  
a. 27 ehl;fs;  b. 28 ehl;fs;  c. 29 ehl;fs;  d. 30 ehl;fs;  
tpsf;fk; 
 
Let M and W denote a men and a women respectively  
then,  3 W = 7M  
   6 W = 14 M 
   6W + 8M 
   = 14M + 8M  
    = 22M  
If 7 men can construct in 88 days then  
  22 M can construct in  88  ×  7 = 22 × x = 28   
,q;F M kw;Wk; W Mfpait Xh; Mz; kw;Wk; Xh; ngz;iz Fwpf;Fk;  
  3 W = 7M 

  1 W = 
7

3
m 

 Now, 6W + 8M = 
7

6
3

 M + 8M  

   14 M + 8 M  
   = 22 M  
 7  Mz; xh; miwia 88 ehs;fspy; fl;b Kbg;ghh; vdpy; 22 Mz; me;j  miwia 
     88 × 7 = 22 × x  
      x = 28 
 Short cut  

 Required time to construct the work = 
P

a b

x y
+

 

       
88

6 8

3 7
+

 = 
88

8
2

7
+

 

       =
88 7

22


 

       = 28 days  
 

79. A and B together can do a piece of work in 32 days and A alone can do it in 48 days. How 
long will B done to complete the work?  
a. 48  B. 96   C. 90   D. 84 
A kw;Wk; B Mfpa ,UtUk; ,ize;J xU Ntiyia 32 ehs;fspy; Kbg;gh;. A jdpNa me;j 
Ntiyia 48 ehs;fspy; Kbg;gh; vdpy; B jdpNa me;j Ntiyia vj;jid ehl;fspy; 
Kbg;ghh;?  
a. 48  B. 96   C. 90   D. 84 
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tpsf;fk; 
 

  (A + B) 1 days work = 
1

32
 

  A's 1 day work = 
1

48
 

  B's 1 day work = 
1 1

32 48
−  

     = 
3 2

96

−
 = 

1

96
 

  B takes 96 days to complete that work.  
tpsf;fk;:  

  (A+B) ,d; 1 ehs; Ntiy = 
1

32
 

  A - ,d; 1 ehs; Ntiy = 
1

48
 

  B  ,d; 1 ehs; Ntiy = 
1 1

32 48
−   

      = 
3 2

96

−
 = 

1

96
 

  B vd;gth; 96 ehs;fspy; Ntiyia Kbg;ghh;.  
 

80. A and B can do a peace of work in 20 days and 30 days respectively. They started the work 
together and B left after some days of work and A finished the remaining work in 5 days. 
after how many days B left?  
a. 8   b. 9   c. 10   d. 11 
A kw;Wk; B MfpNahh; xU Ntiyia KiwNa 20 kw;Wk; 30 ehs;fspy; Kbg;gh; mth;fs; 
,UtUk; xd;whfr; Nrh;e;J Ntiyiaj; njhlq;fpdhh;. rpy ehs;fs; Ntiy nra;j gpwF B 
Mdth; nrd;WtpLfpwhh; kPjKs;s Ntiyia A Mdth; 5 ehl;fspy; Kbf;fpwhh; vdpy; 'B" 
vj;jid ehs;fSf;F gpwF Ntiyia tpl;Lr; nrd;whh;?  
a. 8   b. 9   c. 10   d. 11 

 
tpsf;fk; 
  

  A - ,d; 1 ehs; Ntiy  = 
1

20
 

  B - ,d; 1 ehs; Ntiy = 
1

30
 

  A - ,d; 5 ehs; Ntiy = 
1 1

5
20 4

 =  

  kPjKs;s Ntiy 
1 31

44
− =   

kPjKs;s Ntiyia A kw;Wk; B Nrh;e;J Kbg;ghh;fs; vdpy; A kw;Wk; B – ,d; 1 ehs; 

Ntiy = 
1 1 50 5 1

20 30 20 30 60 12
+ = = =


 

 
3

4 9
1
12

= ehs;fs;  
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A's 1 day work =
1

20
 

A's 5 day work = 
1 1

5
20 4

 =  

B's 1 day work = 
1

30
 

Remaining work =   
1 31

44
− =  

A and B 1 day work = 
5

60
 = 1

12
 

Remaining work done by A & B in  = 
3

4
1

2

 = 9 days  

 
81. A alone works for 3 days and B alone works for 6 days to complete the same work. How long 

will it take if they work together?  
a. 3   b. 4   c. 9   d. 2 

A vd;gth; xU Ntiyia 3 ehl;fSk; B vd;gth; 6 ehl;fSk; Kbg;ghh;fs; vdpy; ,UtUk; 
Nrh;e;J me;j Ntiyia vj;jid ehs;fspy; Kbg;ghh;fs;?  
a. 3   b. 4   c. 9   d. 2 

 
tpsf;fk; 
  

  A's 1 day work = 
1

3
 

  B's 1 day work = 
1

6
 

 (A+B)'s 1 day work = 
1 1

3 6
+  

    = 
2 1 3

6 6

+
=  

    = 1
2

 

 A and B together takes 2 day to complete the work.  
 

82. A and B can do a certain piece of work in 10 days. B and C can do it in 12 days and C and A in 
20 days. In how many days A alone can do the same work?  
a. 25    b. 35   c. 30   d. 40  
A kw;Wk; B Nrh;e;J xU Ntiyia 10 ehl;fspy; Kbg;ghh;fs;> B kw;Wk; C Nrh;e;J 12 
ehl;fspy; Kbg;ghh;fs;> C kw;Wk; A 20 ehl;fspy; Kbg;ghh;fs; vdpy; A kl;Lk; me;j Ntiyia 
vj;jid ehl;fspy; Kbg;ghh;?  
a. 25    b. 35   c. 30   d. 40  
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tpsf;fk; 
  

  (A+B)'s 1 day work 
1

10
=     → 1 

  (B+C)s 1 day work 
1

12
=     → 2 

  (C+A)'s 1 day work  
1

20
=     → 3 

 Add 1 + 2 + 3  

  2 (A+B+C)'s 1 day work 
1 1 1

10 12 20
= + +   

      
6 5 3

60

+ +
=  

  (A + B + C)'s 1 day work = 
14

60 2
 

A's 1 day work  = 
14 1

120 12
−    ((B+C)'s 1 day work = 

1

12
) 

   
14 10

120

−
 = 

4

120
 

   = 
1

30
    A alone can finish it in 30 days    

83. 30 men can do a piece of work in 10 days. In how many days 15 men can do the same work?  
a. 20 days   b. 25 days   c. 30 days   d. 15 days  
10 ehs;fspy; xU Ntiyia 30 Mz;fs; Kbg;ghh;fs; vdpy; 15 Mz;fs; mNj Ntiyia 
vj;jid ehs;fspy; Kbg;ghh;fs;?  
a. 20 ehl;fs;   b. 25 ehl;fs;  c. 30 ehl;fs;  d. 15 ehl;fs;  
 
 
tpsf;fk; 
  

  1 1 1 2 2 2

1 2

M T D M D T

W W

   
=  

  230 10 15

1 1

T 
=  

  20 = T2  
 

84. If 3 men or 9 boys can finish a piece of work in 21 days. In how many days can 5 men and 6 
boys together do the same piece of work? 
a. 12 days   b. 9 days   c. 14 days   d. 15 days  
3 Mz;fs; my;yJ 9 khzth;fs; xU Ntiyia 21 ehs;fspy; Kbg;ghh;fs; vdpy;> 5 Mz;fs; 
kw;Wk; 6 khzth;fs; Nrh;e;J me;j Ntiyia vj;jid ehl;fspy; Kbg;ghh;fs;?  
a. 12 ehl;fs;  b. 9 ehl;fs;  c. 14 ehl;fs;  d. 15 ehl;fs;  
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tpsf;fk; 
  

 Required time to do the work = 
P

a b

x y
+

 

      = 
21

5 6

3 9
+

 = 
21

5 2

3 3
+

 

      = 
21 3

7


 

      = 9 days  
 

85. A person travelled at a distance with uniform speed of 9 km/hr and return to the starting 
point with the speed of 3 km / hr. Find the average speed of the whole Journey?  
a. 4.5 km / hr   b. 5.5 km/hr  c. 6 km/hr  d. 6.5 km/hr 
xUth; Fwpg;gpl;l J}uj;ij 9 fp.kP/kzp Ntfj;jpy; nry;Yfpwhh; jpUk;gp tUk; NghJ mNj 
J}uj;ij 3 fp.kP / kzp Ntfj;jpy; nrd;why; mthpd; ruhrhp Ntfk; vd;d?  
a. 4.5 fp.kP/kzp  b. 5.5 fp.kP / kzp c. 6 fp.kP / kzp  d. 6.5 fp.kP kzp  

 
tpsf;fk; 

  Average speed (ruhrhp Ntfk;) = 
2xy

x y+
 

       = 
2 9 3

9 3

 

+
 

       = 
2 9 3

12

 
 

       = 4.5 km/hr 
 

86. A man can complete a journey in 10 hrs. He travels First half of the journey at the rate of 21 
km/hr and 2nd half of the journey at the rate of 24 km/hr find the total journey in km?  
a. 220 km   b. 224 km  c. 225 km  d. 228 km  
xUth; xU Fwpg;gpl;l J}uj;ij 10 kzp Neuj;jpy; flf;fpwhh;. mjpy; Kjy; ghjp J}uj;ij 21 
fp.kP / kzp Ntfj;jpYk; mLj;j ghjp J}uj;ij 24 fp.kP / kzp Ntfj;jpYk; fle;jhy; mth; 
fle;j nkhj;j J}uk; vt;tsT (in km)  
a. 220 fp.kP  b. 224 fp.kP  c. 225 fp.kP  d. 228 fp.kP  

 
tpsf;fk; 
 
let the total distance be 'D' 
then Total time taken = 10 hours  

  T1 + T2 = 10  

  
/ 2 / 2

10
21 24

D D
+ =    

tandis ce
Time

speed

 
= 

 
 

  
24 21

10
2 21 24

D + 
=  

 

  
45

10
2 21 24

D  
=  
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  D = 56 × 2× 2 
  D = 224 km  
 

87. A train covers a certain distance of at a speed of 200 km/hr in 5 hrs. to cover the same 
distance in 2 hrs it must travel at what speed?  
a. 600 km/hr   b. 500 km/hr  c. 550 km/hr  d. 450 km/hr 
xU njhlh;tz;b Fwpg;gpl;l J}uj;ij 200 km/hr Ntfj;jpy; 5 kzp Neuj;jpy; flf;fpwJ. vdpy; 
mNj J}uj;ij 2 kzp Neuj;jpy; flf;f njhlh;tz;b vt;tsT Ntfj;jpy; nry;y Ntz;Lk;?  
a. 600 fp.kP / kzp  b. 500 fp.kp / kzp  
c. 550 fp.kP / kzp   d. 450 fp.kP / kzp  

 
tpsf;fk; 

 
 Distance (J}uk;)  = speed (Ntfk;) ×  time (J}uk;)  
    = 200 × 5  
   Distance = 1000 km  

   speed = 
tanDis ce

time
 

    = 
1000

2
 

   speed = 500 km / hr  
 

88. A truck covers a certain distance in 12 hours at the speed of 70 km/hr. What is the average 
speed of a car which travels at a distance of 120 km more than the truck in the same time?  
a. 76 km/hr  b. 85 km/hr  c. 82 km/hr  d. 80 km/hr  

xU l;uf; 70 km/hr Ntfj;jpy; xU Fwpg;gpl;l J}uj;ij flf;f 12 kzp Neuk; vLj;J 
nfhs;fpwJ Mdhy; xU fhh; mNj Neuj;jpy; buf; nrd;w J}uj;ij tpl 120 km mjpfk; 
nry;fpwJ. vdpy; fhUila ruhrhp Ntfk; vt;tsT?  
a. 76 fp.kP / kzp  b. 85 fp.kp / kzp  c. 82 fp.kP / kzp  d. 80 fp.kP / kzp  

 
tpsf;fk; 
  

  Truck – Distance = speed × time  
     = 70 × 12 
     = 840 km 
 Car – Distance = 120 + truck's distance 
     = 120 + 840 
     = 960 km 

  Speed of the car = 
960

12
= 80 km /hr  

 
89. A person Walking 3/4 of his usual speed is 10 min late to his office. Find his usual time to 

cover the distance?  
a. 10 minutes   b. 50 minutes  c. 30 minutes  d. 40 minutes  
xU kdpjh; jd; ,ay;ghd Ntfj;jpy; ¾ Ntfk; gazk; nra;jhy; 10 epkplk; jhkjkhf 
mYtyfk; nry;thh; vdpy; mth; ,ay;ghf me;j J}uj;ij flg;gjw;F vLj;J nfhs;Sk; Neuk; 
vd;d?  
a. 10 epkplk;  b. 50 epkplk;  c. 30 epkplk;  d. 340 epkplk;  

 
 



 

18 | Page APPOLO STUDY CENTRE 044-24339436, 42867555, 9840226187 
 

tpsf;fk; 
  

 Usual speed = S  
 Usual time taken = T     Distance = speed × Time  

 New speed = 
3

4
S  

 New time taken = (T+10) 

S
3 S

T =
( 10)

4

T +
      (Distance is same)  

 4T = 3T + 30  
 T = 30 minutes  
    

90. A man travelled a distance of 61 km in 9 hours. He travelled partly by foot at 4 km/hr and 
partly on bicycle at 9 km/hr. Find the distance travelled on foot?   
a. 16 km  b. 18 km  c. 24 km  d. 10 km  
xU kdpjh; 61 fp.kPl;lh; J}uj;ij 9 kzp Neuj;jpy; flf;fpwhh;. mth; Fwpg;gpl;l J}uj;ij 4 fp.kP 
/ kzp Ntfj;jpy; ele;Jk; kPjKs;s J}uj;ij 9 fp.kP / kzp Ntfj;jpy; kpjptz;bapy; 
gazpf;fpwhh; vdpy; mth; ele;J gazk; nra;j J}uk; vd;d?  
a. 16 fp.kP   b. 18 fp.kP  c. 24 fp.kP  d. 10 fp.kP  
 
tpsf;fk; 
 
Let on foot distance = D km  
Bicycle distance = 61 – D km  
Total time taken = 9 hours  

   
61

9
4 9

D D−
+ =  

  9D + 61 × 4 – 4D = 9 × 4 × 9  
  5D + 61 × 4 = 81 × 4  
  5D = 81 × 4 – 61 × 4  
  5D = 4 × 20  
  D = 16 km  

ele;J nrd;w J}uk; = D  
 kpjptz;bapy; J}uk; nrd;w  = 61 – D km  
 nkhj;j Neuk; = 9 hours  

  
61

9
4 9

D D−
+ =  

  9D + 61 × 4 – 4D = 9 × 9 × 4 
   5 D = 81 × 4 – 61 × 4 
   5D = 4 × 20  
   D = 16  
 

91. If man walks at 4 km/hr to an office he was late by 5 minutes. If he walks at 6 km/hr he 
reached office 8 minutes earlier. Find the distance travelled by him to an office?   
a. 2.7 km  b. 2.6 km  c. 2.4 km  d. 3 km  
xU egh; 4 fp.kP /kzp Ntfj;jpy; ele;jhy; 5 epkplk; jhkjkhf mYtyfj;jpw;F nry;thh;. gpd; 
mth; 6 fp.kP / kzp Ntfj;jpy; ele;jhy; 8 epkplk; Kd;djhfNt mYtyfj;jpw;F nry;thh; 
vdpy; mth; mYtyfj;jpw;F ele;J nrd;w J}uk; vt;tsT?  
a. 2.7 fp.kP  b. 2.6 fp.kP  c. 2.4 fp.kP  d. 3 fp.kP  
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tpsf;fk; 
  

  Time difference = 8 – (-5)  
     = 13 minutes 

     
13

4 6 60

d d
− =    (Distance same)  

    
6 4 13

4 6 60

d d−
=


 

    2d = 
13 4 6

60

 
 

   d = 2.6 km  
 

92. Excluding stoppage, the speed of a bus is 54 km/hr and including stoppage it is 45 km/hr. for 
how minutes does the bus stops per hour?  
a. 8   b. 10   c. 12   d. 13  
epWj;Jkplk; ,y;yhky; xU NgUe;jpd; Ntfk; 54 fp.kP / kzp kw;Wk; epWj;Jkplk; ,Ue;jhy; 
Ntfk; 45 fp.kP / kzp vdpy; kzpf;F vt;tsT epkplq;fs; NgUe;J epWj;jg;gl;lJ?  
a. 8   b. 10   c. 12   d. 13  
 
tpsf;fk; 
 
Due to stoppage = 54 – 45 = 9 km  

so it has travelled 9 km less, then time 
9

54
=  

       = 
1

60min
6

=   

      T = 10 minutes  
 

93. The average of six consecutive odd numbers is 46. What is the smallest of these numbers?  
a. 42   b. 43  c. 44   d. 41  
mLj;jLj;j MW xw;iwg;gil njhlh; vz;fspd; ruhrhp 46 vdpy; ,jpy; cs;s kpff; Fiwe;j 
vz;zpd; kjpg;gpidf; fhz;f?  
a. 42   b. 43  c. 44   d. 41  

 
tpsf;fk; 
  

 Let x, x + 2, x + 4, x + 6, x + 8, x + 10 be the x consecutive add numbers  

 Average  (ruhrhp) = 
ln

Sumof all thenumber

Tota umbers
 

 46 = 
2 4 6 8 10

6

x x x x x x+ + + + + + + + + +
 

  46 × 6 = 6x + 30  
  276 – 30 = 6x 

  
246

6
x=  

  41 = x  
smallest number is 41  
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94. Average of five consecutive even numbers is 280. What is the largest number among these? 
a. 284   b. 286  c. 280   d. 278 
Ie;J ,ul;ilg;gil njhlh; vz;fspd; ruhrhp 280 vdpy; mjpy; kpfg;nghpa vz;iz fhz;f?  
a. 284   b. 286  c. 280   d. 278 

 
tpsf;fk; 
  
Let x, x+2, x + 4, x = 6, x + 8 be five consecutive even numbers then  

  Average (ruhrhp) = 
sum

Total
 

   280 = 
2 4 6 8

5

x x x x x+ + + + + + + +
 

   280 × 5 = 5x + 20  
   280 × 5 – 4 × 5 = 5x  
   5 (280 – 4) = 5x  
   5 × 276 = 5x  
   x = 276  

Hence the numbers are 276, 278, 280, 282, 284  
The largest number is = 284  

    
95. The average of a group of men is increased by 8 years when a person aged 22 years is 

replaced by a new person of aged 62 years. How many men are there in the group? 
a. 6   b. 8   c. 4   d. 5 
22 taJila xU egUf;F gjpyhf 62 taJila xU Gjpa egh; khw;wg;gLk; NghJ Mz;fs; 
FOtpd; ruhrhp 8 Mz;Lfs; mjpfhpf;fpwJ. vdpy; FOtpy; vj;jid Mz;fs; cs;sdh;?  
a. 6   b. 8   c. 4   d. 5 

 
tpsf;fk; 
  

  Let 'x' be the number of persons in the group.  
Replaced Age difference = 62 – 22 = 40  

    x × 8 = 40  
    x = 5  

  
 FOtpy; cs;s nkhj;j egh;fspd; vz;zpf;if 'x' vd;f.  
   taJ tpj;jpahrk; 62 – 22 = 40  
      x × 8 = 40  
       x = 5  
      

96. The average age of three men A, B and C is 45 while the average age of three men B, D and E 
is 52 kg. What is the average age of A, B, C, D and E? 
a. 48   b. 50   c. 52  d. Data inadequate 
A, B, kw;Wk; C Mfpa %d;W Mz;fspd; ruhrhp taJ 45, B, D kw;Wk; E Mfpa %d;W 
Mz;fspd; ruhrhp taJ 52 kg vdpy; A, B, C, D kw;Wk; E – d; ruhrhp taJ vd;d?  
a. 48   b. 50   c. 52  d. juT NghJkhdjhf ,y;iy  
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tpsf;fk; 
  

 Given  45
3

A B C+ +
=  

  A + B + C = 45 × 3     (1) 

  52
3

B D E+ +
=  

  B + D + E = 52 × 3     (2) 
 Data inadequate  
 

97. Average cost of 5 pen and 4 pencil is Rs. 36. The average cost of 7 pen and 8 pencil is Rs. 48.  
Find the total cost of 36 pen and 36 pencil. 
a. 3445  b. 3132  c. 3320 d. 3543 
5 Ngdh kw;Wk; 4 ngd;rpypd; ruhrhp tpiy & 36. 7 Ngdh kw;Wk; 8 ngd;rpypd; ruhrhp tpiy 
& 48. nkhj;jk; 36 Ngdh kw;Wk; 36 ngd;rpypd; tpiyiaf; fz;lwpaTk;?  
a. 3445  b. 3132  c. 3320  d. 3543 

 
tpsf;fk; 
 

 Average cost of 5 pen and 4 pencil = 36 
  Total cost = 36 × 9 = 324  

 Average cost of 7 pen and 8 pencil = 
cossumof total t

Total penand pencil
 

   48 = 
cos

15

Total t
 

  Total cost = 48 × 15 = 720  
Total cost of 12 pen and 12 pencil = 324 + 720 = 1044 
Then, cost of 36 pen and 36 pencil = 1044 × 3 = 3132  
 

 5 Ngdh kw;Wk; 4 ngd;rpypd; ruhrhp = 36 
  nkhj;j nryT = 36 × 9 = 324  
  (7Ngdh + 8 ngd;rpypd;) ruhrhp = 48  
   nkhj;j nryT = 48 × 15 = 720  
  nkhj;jk; (12 Ngdh + 12 ngd;rpypd;) nryT = 324 + 720 = 1044 
  nkhj;jk; (36 Ngdh 36 ngd;rpypd;) nryT = 1044 × 3 = 3132  
 

98. The average age of four student is 15. If age 18 was misread as 10 during the calculations, 
what will be the correct average? 
a. 17   b. 18   c. 20   d. 16 
ehd;F khzth;fspd; ruhrhp taJ 15. fzf;fPl;bd; NghJ 18 taij 10 vd jtwhf 
gbj;jpUe;jhy;> rhpahd ruhrhp vd;dthf ,Uf;Fk;?  
a. 17   b. 18   c. 20   d. 16 

 
tpsf;fk; 
  

 Age Difference = 18 – 10 = 8  

 Correct Average = 15 + 
8

4
 

     = 15 + 2 = 17   
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99. The average marks in English subject of a class of 24 students is 56. If the marks of three 
students were misread as 44, 45 and 61 of the actual marks 48, 59, 67 respectively, then what 
would be the correct average? 
a. 56.5  b. 59   c. 57.5  d. 57 
xU tFg;gpd; 24 khzth;fspd; Mq;fpyg; ghlj;jpd; ruhrhp kjpg;ngz;fs; 56. mjpy; %d;W 
khzth;fspd; cz;ikahd kjpg;ngz;fs; 48> 59 kw;Wk; 67 vd;gtjw;F gjpyhf 44> 45 kw;Wk; 
61 vd jtwhf fzf;fpl;L ,Ug;gpd; cz;ikahd ruhrhp kjpg;ngz;fs; vt;tsT?  
a. 56.5  b. 59   c. 57.5  d. 57 

 
tpsf;fk; 
  

  Total Actual marks = 48 + 59 + 67  = 174 
  Total Mis-readed Marks = 44 + 45 + 61 = 150  
  Difference in Marks = 174 – 150 = 24  
      = 56 + 1 = 57  
  

100. The average age of a husband and wife was 23 when they were married 5 years ago. The 
average age of the husband, the wife and a child who was born during the interval is 20 years 
now. How old is the child now? 
a. 8 years  b. 4 years  c. 6 years  d. 10 years 
5 Mz;LfSf;F Kd;G jpUkzk; nra;J nfhz;lNghJ fztd; - kidtpapd; ruhrhp taJ 23 
MFk;. jw;nghOJ fztd;> kidtp. Foe;ij (,ilntspapy; gpwe;jhh;)-,d; ruhrhp taJ 20 
Mz;Lfs; vdpy; Foe;ijf;F ,g;NghJ vt;tsT taJ?  
a. 8 tUlk; b. 4 tUlk;  c. 6 tUlk;  d. 10 tUlk;  

 
tpsf;fk; 
  

 present total age of husband and wife  = 23 × 2 + 5 × 2 = 56  
 Present total age of husband, wife and child = 20 × 3 = 60  

   Age of child = 60 – 56 = 4   


